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We have the premium £300k but we need information of reversioanry interest amounts. 

East LTD

As it is not part of the group, this company cannot participate in rollover and holdover 
relief. 

When the asset is sold in the future, it could potentially benefit from rollover relief 
benefit on the basis another qualifying asset is purchased 12 months before the disposal 
and 36 months after the disposal. Freehold building in a non- depreciating asset as it has 
UEL of of more than 6 years. 

Acquisition of a non residential property will be subject to a stamp duty land tax based on 
cost:

Cost: £500,000

£150k *0% = 0
£100,000*2%= 2,000
£250k *5%= £12,500

SDTL = £2k + £12.5k = £14,500

-------------------------------------------
--------------ANSWER-1-ABOVE---------------
-------------------------------------------



Institution CIOT - CTA
Course / Session Adv Tech Tax of Larger Companies Exam Mode OPEN LAPTOP + NETWORK
Extegrity Exam4 > 24.10.28.0 Section All Page 5 of 22

__________________________________________________________________________________________  

-------------------------------------------
--------------ANSWER-2-BELOW---------------
-------------------------------------------

Answer-to-Question-_2_

A loss group exists where there is a direct 75% subsidiary and an indirect 75% subsidiary. 

You can be in more than one loss group. 

The loss group are as follows:

Group 1 - Dallas, Austin, Howston, Wacer, Bolding, Fromex, Amarillion, Hellenic SA, 
Finez

Group 2- Austin and Lubbock 

Austin only joined group from 1 March 2023 so group relief is resticted to 10/12 months. 

Howston left the group on 31 August 2023. So group relive is restricted to 8/12 months. 

Wazer has a different accounting period so we need to apportion the accounting period. 

Amarillion in a consortium member as it owne min 5% in Alpine but with the other 
shareholder, there is total 75% shareholding. 

Amarillion is also a link company as it is a consortium member and also part of loss 
group. 

year ended 31 December 2022

Trading profits: 
D : £2m 
Howston:£500k 
Fromex: £600k 
Finez: £750k
Alpine: £1m 

Losses:
Amarillion:£5m
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D: £2.5m 
Finez: £950k
Alpine £1.5m 

Losses:
Howston: £700k 
Fromlex: 700k 
Amarilion: £500k
Hellenic: £500k 

Alpine
We can utlised the b/f losses from Ammarilion of £850k and 100% of Hellinic losses 
£500k

1.5m - 850k - 500k = 150k 

We can then use 

-------------------------------------------
--------------ANSWER-2-ABOVE---------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-3-BELOW---------------
-------------------------------------------

Answer-to-Question-_3_

Capital gain group arises where there is 75% direct shareholding and 51% ineffective 
interest. 

Melburk 

SSE (substantial shareholidng exemption) will not apply to Melburk as although Parthy 
owned minimum of 10% shares in Melburk for continous 12 months within 6 years prior 
to disposal, Melburk is an investment company. 

Sale of properties to Bune (assuming wholly owned subsidiary) would be intra group 
transfer as both companies are part of the same capital gains group. 

Therefore the transfer would be at Nil gain nil loss and the value is the cost £120m + any 
indexation. 

Both Melburk and Bune are leaving the group at the same time so there is not asset 
degrouping charge which arises when Bune leaves group within 6 years of a NGNL 
transfer. 

Proceeds £75,000,000
cost (£30,000,000)
Indexation allowance 
W1)30m*0.078= (2,340,000)

Gain = £42,660,000

Dividends paid prior to disposal is a value shifting transaction. Proceeds can be adjusted 
to add £45m. 

W1)
IA from April 2015 to Dec 2017
(278.1 - 258)/258 = 0.078
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Hobert SA

The chargeable disposal of Hobert SA would not qualify for the substantial shareholding 
exemption as it was not a trading company. 

Proceeds: £15m 
less Cost: £10m 
Gain subject to corporation tax= £5m 

This if a value shifting as the market value of the company reduced prior tyo disposal as a 
result of a dividend payment made prior to disposal. 

Proceeds must be recalculated to add back £5m. 

Durwine 

Proceeds: £12m
Less cost: £1m 
Gain: £11m 

No indexation allowance as it was incorporated after December 2017. 

The gain will be exempt if the substantial shareholding exemption applies. 

Parthy Plc owned minimum of 10% share capital of Durwine for continous 12 months 
with 6 years prior to disposal. 

Durwine Ltd has been a trading company for atleast 12 months prior to disposal. 

Therefore, SSE applies and the gain is exempt. 

However, something to note is that this could be a value shifting arrangement as prior to 
disposal, there a dividend paid to Parthy . 

We can recalculate the gain by adding the dividends to proceeds.

Revised proceeds: £13m 
less costs £1m 
Gain = £12m 
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-------------------------------------------
--------------ANSWER-3-ABOVE---------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-5-BELOW---------------
-------------------------------------------

Answer-to-Question-_5_

Connected party 

When Curtis Inc acquires Jabert Ltd, they will become connected parties as Curtis owns 
>51% share capital in Jabert and has control. 

Control for tax purposes means the power of a person to secure that the affairs of the 
company are conducted in accordance with the person wishes by:
- means of holiding shares or the possession of voting power
- as a result of any powers conferred by the articles of association. 

Subsequent sale of the company will have no UK tax implications and Curtis Inc is not 
charegable to UK corporation tax.

Groups

For Jabert Ltd, there will be an additional company in the group. Therefore when 
calculating thresholds for quarterly instalment payment, we will need to divide the 
thresholds of £1.5m and £20m by the number of associated companies. We are told that 
Curtis Inc has is part of multi national group. 

Jabert has pre- tax profits of £3m. On the basis that augmented profits are previously 
below £1.5m threshold, it would only be liable to pay its CT liability 9 months and 1 day 
after the end of accounting period. If the augmented profits are between the £1.5m and 
£20m threshold (with number of associated companies taken into account), then the 
company will be deemed as large for quarterly instalment payments. There is a grace 
period for becoming large for QIPS in first period but none for ver large (threshold 
exceeds £20m/ numner of associated companies. 

The payment dates for 31 December 2024 would be as follows:

Large
- 14 July 2024, 14 October 2024, 14 January 2025, 14 April 2025. 

V large 
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- 14 March 2024, 14 June 2024, 14 September 2024, 14 December 2024. 

CIR

For CIR purposes, Curtis would be exluded as it not a qualifying UK company. 

TP

For transfer pricing, Curtis and Jabert are connected as there is more than 51% control. 

We need to make sure that any inter group transactions are at arm's lenght basis. 

Transfer policy is relevant where there is a transaction and the actual provision is not at 
arms lenght, resulting in a UK CT tax advantage. 

Where there is a UK CT tax advantage, we will need to compute the transfer pricing 
adjusment and include in UK CT return. To avoid mismatch of TP adjusment, we can 
enter into bilateral agreement with US authorities to make sure adjusement treatments 
match. 

Transfer pricing is only applicable to large companies and not for SME. 

Therefore, employees must be >250 and either one of the following must be met: 

- Turnover> 50m euros 
- balance sheets assets> 43m euros

Jabert previously before being acquired by Curtis was not a large company as it had less 
than 250 employees but the turnover threshold.

Post acquisition, the number of employees, turnover and assets balance sheets is 
aggregated and therefore the Jabert is now applicable to TP policies. 

We are told  that there will be a provision of management servises from Curtis to Jabert. 

Robust documentation is required to determine whethere the intercompany charges are at 
arms length. There must be a master file and a local file in the UK. 

OCED model outlines different TP methodologies. 

Transactions methods include:
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- Controllable unconnected price (CUP)
- Cosst plus method
- resale price method

Transactional profit method includes:
- Transactions net profit margin method

OECD prefer CUP method as it is more objective. 

It is likely that Curtis Inc provides management services to other sub (although none in 
UK), so we could check how much is charged but there is an argument whethere this is 
rleiable and UK and overseas conditions differet. 

Royalties

Curtis Inc has an IP which Jabert will utlise and therefore there will be royalty payments 
to Curtis. 

Royalty payments made by a UK company is subject to WHT (witholding tax) fo 20%. 
This can be reduced to 0% if there is Double treaty with US. 

It could be the case the Jabert may be liable to an ORIP charge of 20%. 

This where a UK resident company pays an overseas company royalty payment for 
enjoyment of IP resulting in UK sales exceeds £10m. 

We do not have enough information of this. But if there is a DTT present in US then there 
is not ORIP charge, 

If there is no DTT with US, then ORIP is relevant. However there are some exemptions:

- Low tax jurisdictiction 
- economic susbtance - has the Ip be created in US (this is yes). 
- Foreign exemtpion - is the foreign tax paid atleast 50% of ORIP charge. 

Dividends

Any divideds paid by a UK company is exempt and there is not WHT. 
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--------------ANSWER-5-ABOVE---------------
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-------------------------------------------
--------------ANSWER-6-BELOW---------------
-------------------------------------------

Answer-to-Question-_6_

A company is UK resident for tax purposes if it is incorporated in the UK or if central 
control and managements is deemed to be in UK. 

If the company sets up a local company in the UK then if it is incorporated in the UK 
then by virtue, it will be a UK tax resident company and liable to corporation tax on its 
worldwide income and gains. 

SylMarc SA is a overseas tax resident company that has a Double tax treaty with the UK. 
Therefore under OECD rules, the company will be liable to UK corporation tax if it is 
deemed that POEM (place of effective management ) is in the UK. 

Competent authorities will look at multiple factors such as where is head office based, 
where is operational decision made to come to an agrement of where the company is 
resident. 

The company will be deemed dual resident is deemed to be resident in UK as well as 
Gardania.

Based on the information provided, all staff as based in Gardania and all functions/ 
decision making is made there so it is unlikely that POEM is in UK. Although the staff 
may be trasnferred, there is no intention for senior management to be located to UK, this 
included Directors etc who make key operational decisions. 

The other way, Syl Marc SA could have liability to UK tax is if there is deemed to be 
permanent establishment in the UK (Branch). 

Permanent Establishment (PE) is where there is fixed place of business and there are 
dependent agents who conclude contracts on behalf of the company. 

In order for there to be a PE, there must be a degree of permanence (more than 6 months). 
There is no information in the scenario to suggest the timing so on the basis that it is long 
term. We can conclude that this criteria has been met. 

In terms of a fixed place of business, we need to check if teh services office 
accomodation is at the diposal of the company. If yes, then it can be deemed as a fixed 
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place of business. 

Auxilary and prepartoary activities will not be deemed as activity substantial for a PE. 

We need to check whether there are any dependent agents. The staff may potentially be 
classified as dependent agents on the basis that they are solely working got SylMarc SA. 
The contracts need to be reviewed and we need to confirm whethere renewal of contracts 
constitutes concluding contracts.  




